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QUESTION 1

Referring to an Unconnected Lookup transformation: Which one of the following is true? (choose one) 

A. An unconnected lookup can return multiple rows while a connected lookup may return only one 

B. Both connected and unconnected lookups can return multiple rows 

C. An unconnected lookup may return only one value while a connected lookup may return multiple rows 

D. Both connected and unconnected lookups can return only one row 

Correct Answer: C 

 

QUESTION 2

What function would transform 12.99 to 13.0 and 15.44 to 15.4? (choose one) 

A. ROUND 

B. TRUNC 

C. INSTR 

D. CONCAT 

Correct Answer: A 

 

QUESTION 3

Transformation: Referring to Active and Passive characteristics - Select the statement which is correct and true. 

A. If a transformation\\'s Active property is cleared or not enabled, the transformation becomes passive 

B. A transformation is active if it does not change the number of rows in the pipeline 

C. Transformations can be active and passive at the same time 

D. A passive transformation will not change the number of rows in the pipeline 

Correct Answer: D 

 

QUESTION 4

What is the first column of the bad file? 

A. Reject reason 

B. Column Indicator 
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C. Overflow Indicator 

D. Row Indicator 

Correct Answer: D 

 

QUESTION 5

Please choose one of the following. In a static, non-multi-row lookup, 

A. lf a lookup search does not find a value in the search data, then the row from which the search is produced is
dropped so a balanced pipeline can be produced 

B. If a lookup search finds the search value in the lookup data but discovers that the fields that are being returned from
the search are null, then the row from which the search is produced is dropped so that a balanced pipeline can be
produced 

C. If the lookup finds two records that match the search key, it will return two records 

D. None of the above 

Correct Answer: D 
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